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103] a] When attempting to reduce the array size by 25% via candompirot
election

, followed by partitioning , the worst case occurs when the desiredlies in the interval [n14
, 3n/4] . In this case, the pivot must also be

editedGentheseevalewhee robbredee orangunite
e

we get the eecerence TC) = <(3n /4) th
·

by Y = 10100101 Y = 1010 XR = 0101
y = 11110000 Y

= 11/1 YR = 0000

ay= 1683 20
=

39600

P , = 10010110 = 150

P2
=

00000000
= 0

P3 = 11100001 = 225

my
= P, >2 + (P5- 4 - P2) x2"+Pz

= 150428 + (225-150-0) x 2" + 0
-

39600
-

https://goodnotes.com/


Lou]a] n being a positive power of2makes it constantly ever . Then
wio-whare both roots of unity .

Furthermore
, squares of the nih

roots of unity yield
the n roofs ofunity & soproblem size

gets halved . Thereby when evaluating these
roofs

,
no.ofsteps are

OClogu)
z

y DFTY (5, 2, 3 , -4)
DFT (5

, 3) DFT, (2
, 1)

odd even

-> DFT= (5,3) = (5, 5) # (3 , -3) DFT2"(3 -4)= (2, 2)+ (4, 4)

-18 ,2) = (2 , 6)

-(4 ,
17 ( -1
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-4 , 1
, 4 ,) (- 1

,
3
,
+
,
3)

=> (4 , 1 , 4 , 1) + (-1C1)
, 3-i), 1(-1) , 3(i))

- [Y-1
, 1-3;

,
HH

, 1 =3i)
-) (3 , 1-3i , 5, 13i)
-
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losta) i)An inneighboring path from s to that uses exactlyoneedge not inC ·DI

⑪Idis , v) is minimum costof any; neighboring path
from Stov

by The greedy choice is to add the verters Ho DDT1

that has the minimum cost of any neighboring
pathfrom sto v

·f Let P be the i-neg
A I

wboring path from s to otwhere
cost(P) = diCs

, v) .

LetR be another path from stortwhere
..... U EDDT : & VPDT : Now verter has to existi ** PDTi

· Er Q = s , ... u , vis an i-neighboring path &since P is minimum cost ofall paths & Q is a subpath
of R then cost(RD > cost(Q) > cost(P)

: diCS,v) = dCs
,V)

.

-
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100] Steps : b, e, I Step 2 : c, f , 2 Steps : e, f, 3
find(b) = b find (c) = < find (e) = b
find (c = 2 find (f) = f find (f) = c
⑧

⑯
& ⑰6 ⑪

Step 4 : a , 2, 4 Step5: C, 2 , 5
⑪

find (a) = a find (c) = a
step : d , 2, 6
find (d) = d

find (e) = b find (e) = a find(e) = a

⑧
②⑳ d
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